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1] 1000 | B |2—=x 400m T#E| 4—-3+4 | 930 | 945 | 28

2| 1025 | & |2—R 10 0mH (0. 838m) F&| 4—3+4 9:55 10:10 | 27

31 1055 | & [a=7 100mH(0.838m) TE| 4—3+4 10:25 10:40 | 26

41 11:25 | B [2—X 11 0mH(0.991m) TE| 4—3+4 10:55 11:10 | 29

51 1165 | B|[a2=7 110mH(.067m) FE| 5—4+4 11:25 11:40 | 38

6 | 12225 | Z|2—X 400m FE| 2—3+2 11:55 1210 | 14
711240 | % |2=7 400m FE| 3—24+2 1210 | 12:25 | 17

8] 13:00 | B |[¥2=7 400m FE| 3—2+2 12230 | 12:45 | 24
911320 | B|2—X 400m R 2—4 1250 | 13:05

10 1350 | & |2—R 1 0 0mH (0.838m) R 2—4 13:20 | 13:35

1] 1410 | Z [a2=7 100mH(0.838m) R 2—4 13:40 | 13:55

12 1435 | B |2—X 11 0mH(0.991m) R 2—4 14:05 14:20

13| 14565 | B |a=7 110mH(1.067m) #R| 3—2+2 14:25 14:40

14| 1530 | Z |2—X 400m R 15:00 | 15:15

15 15:40 | Z |2=7 400m R 15:10 | 15:25

16| 1550 | B |2=7 400m R 15:20 | 15:35

171 16:00 | B|2—X 400m R 15:30 | 15:45

18 16:20 | & |2—R 1 0 0mH (0. 838m) RE 15:50 | 16:05

19] 16:30 | Z [a2=7 100mH (0.838m) RE 16:00 | 16:15

20| 1645 | B |2—X 110mH(0.991m) RE 16:15 16:30

211 1700 | B |2=7 110mH(1.067m) R 16:30 | 16:45
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1 9:45 | X |27 #EEBk R 8:20 8:35 | 18

2 [ 1005 | B |2—X  EME R 9:10 9:25 | 24

31 10:15 | & |>2=7 E=Bk R 9:20 9:35 | 22

41 1400 | & |2—R  EEk R 13:05 | 13:20 | 19

5 1430 | & |2—RX &5k R 12:45 | 13:00 | 31
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IR | Bzl | 1R #® B souk | sasAr Fﬁéj’;’ﬁ 52 | =
1 9:30 | kX |[2—X %Y (0.600ke) R 8:35 8:50 | 23

2| 11:40 | B |Pa=7 %Y (0.800kg) R 1045 | 11:00 | 20

31 1330 | k& [Ya=7 *Yi(0.600ke) R 12:35 1250 | 22

41 1530 | B [2—X %Y #(0.800kg) R 14:35 1450 | 22

51 17:30 | % [0a=7 H# (1.000kg) R 16:35 16:50 | 19
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1 930 | BE|2—X 100m $E| 5-4+4 9:00 | 915 | 33
2 955 [ % |¥a2=7 100m FE| 5—4+4 9:25 9:40 | 33
31 1020 | B |¥2=7 100m F#E| 5—4+4 9:50 | 10:05 | 37
41 1080 | %X |2—X 800m F¥E| 3—242 10:20 | 10:35 | 18
5| 11:10 | & |[¥2=7 800m FE| 2—3+2 10:40 | 10:55 | 15
6| 1125 | B|2—x 800m F#E| 2—34+2 10:55 11:10 | 15
71 11:40 | B|>2=7 800m TE| 4—1+4 11:10 | 11:25 | 30
81 12220 | & |2—R 100m F¥E| 3—2+42 11:50 | 12:05 | 21
91 1235 | B |[2—XR 100m #R| 3—242 12205 | 12:20
10| 1250 | Z [Pa=7 100m #R| 3—2+2 12220 | 12:35
M| 13:05 | B|Y2=7 100m #R| 3—242 12:35 | 12:50
12| 13:40 |R&[/NF4HFE 4x100m R 13:10 | 13:25
13| 13:50 |R&[/NES5F 4x100m R 13:20 | 13:35
14| 1400 | & |!M¥6F 4x100m R 13:30 | 13:45
15| 1410 | B [/hME6HFE 4x100m R 13:40 | 13:55
16| 14:20 | & |F%F 4x100m R | 28884 LL—Z| 1350 | 14:05
17] 1440 | B |9% 4x100m R [2M21LL—R| 1410 | 14:25
18] 15:10 [ X |1—X 100m R 14:40 | 14:55
191 15:220 [B|2—X 100m R 1450 | 15:05
20| 1530 |k [¥2=7 100m R 15:00 | 15:15
21| 1540 | B [2=7 100m R 15:10 | 15:25
22| 16:00 | % [1—X 800m R 15:30 | 15:45
23] 16:10 |k [¥2=7 800m R 15:40 | 15:55
24| 16:20 | B [2—X 800m R 15:50 | 16:05
25| 16:30 | B [2=7 800m R 16:00 | 16:15
26| 16:50 | % [2—X 4x100m FE| 4—0+8 | 16:20 | 16:35 | 29
27| 1730 | B [2—RX 4x100m FiE| 6-0+8 | 1700 | 17:15 | 44
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1 9:30 | B |>a2=7 =Bk REs| A-BEwH 8:35 850 | 34
2 [ 1000 | B |2—X &= R 8:35 850 | 14
3| 1200 | & |>a2=7 =Bk REs| A-BEwH 11:05 11:20 | 24
41 1200 | ®x |2—R EEk RE | A-BEwk 11:05 | 11:20 | 26
5 1330 | B |>1=7 #Eak R 12205 | 12:20 | 23
6 | 1400 | &= |[2—R =ExBk REs| A-BEwH 13:05 13:20 | 31
71 16:30 | B |2—X Z=Exk R 15:35 | 1550 | 16
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1 9:30 | B |[2—X  F#E&¥% (1. 750kg) R 8:35 850 | 11
2 9:30 | B [2=7 #ahi%(6.000kg) R 8:35 8:50 | 18
3 1200 | B |>a=7 M. 750kg) R 11:05 | 11:20 | 21
4 1430 | % [2=7 /n><—#(4.000kg) R 13:35 | 1350 | 18
51 1530 | B [2—X  fa#ix(6.000kg) R 1435 | 1450 | 14
6| 16:30 | %X |2—x /\><—# (4. 000kg) R 15:35 | 15:50 | 10
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1] 930 [B][2—x 200m T#E| 4-3+4 | 900 | 915 | 28

2 950 [ % |¥a=7 200m FE| 4—-3+4 9:20 9:35 | 26

31 10:10 | B |>2=7 200m FE| 4—-3+4 9:40 9:55 | 26

41 1040 | &Z|2—X 4 00mH(0.762m) FE| 3—242 10:10 | 10:25 | 22

51 11:00 | & |[22=7 400mH(0.762m) FE| 3—242 10:30 | 10:45 | 22

6| 11:25 | B|[2—X 400mH(0.914m) FE| 3—242 10:55 11:10 | 22

71 11:45 | B [2=7 400mH(0.914m) FE| 5—14+3 11:15 11:30 | 39

81 1230 | |2—X 200m FE| 3—2+2 12200 | 12:15 | 20

91 1250 | B|[2—X 200m R 2—4 1220 | 12:35

10 13:05 | %X |¥2=7 200m R 2—4 12:35 12:50

M) 1320 | B|2=7 200m R 2—4 1250 | 13:05

12| 13:45 | & |&& 4x100m R |2MA821LL—Z| 13:15 13:30

13| 1405 | B |[&8& 4x100m R |2MA821LL—Z| 13:35 13:50

14 1435 | Z[2—X 4x100m R 14:05 14:20

15| 1450 | B[2—X 4x100m R 14:20 | 14:35

16| 1500 | Z [2—X 4 00mH(0.762m) R 1430 | 14:45

17] 15:10 | & [a2=7 4 00mH(0.762m) R 14:40 | 14:55

18] 15:25 | B [2—X 4 00mH(0.914m) RE 14:55 15:10

19| 15:35 | B |a=7 400mH(0.914m) RE 15:05 15:20

20| 16:20 | % |2=7 200m R 15:50 | 16:05

21 16:30 | B |>a2=7 200m R 16:00 | 16:15

22| 1640 | %X |2—X 200m R 16:10 | 16:25

23] 1650 | B|[2—X 200m R 16:20 | 16:35
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IR | Bzl | 1R ® B souk | sasAr Fﬁéj’;’ﬁ 52l | =
1 9:30 | B |>a2=7 E=B RE | A-BEwk 8:35 8:50 | 30

2 9:30 | & |Ya2=7 EfEBk RE | A-BEwk 8:35 8:50 | 28

31 1330 | B |[2—x E&Ek RE | A-BEwk 12235 | 12:50 | 25

41 1330 | B |a=7 EWEEk R | A-BEwk 12235 | 12:50 | 37
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IR | Bzl | 1R #® B souk | sasAr Fﬁéj’;’ﬁ 52 | =
1 9:30 | & [2—X  F#&E% (1. 000kg) R 8:35 850 | 13

21 1000 | % |a=7 faiix (4 000kg) R 9:05 9:20 | 20

3| 11:45 | B |Pa=7 /\><—#(6.000kg) R 1050 | 11:05 | 23

41 1230 | % |2—RX  faiL#x (4. 000kg) R 11:35 11:50 | 17

51 15:00 | B |[2—X /27— (6.000kg) | iRE 14:05 14:20 6




